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AR Co Da it is the candidate’s responsibility Lo encode and fill in the Roll-Number and Test ooR er:esSh i
Any :Dm' t D carefully and without any omission or discrepancy at the appropriate places in the OMR Answer Sheet.
You h ission/discrepancy will render the OMR Answer Sheet liable for rejection. ) 1
ave to enter your Roll Number on the Test Booklet in the Box provided below. PO NOT write anything else on

the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English. Each item comprises
onse which you want to mark on the OMR Answer Sheet. In case you
ider the best. In any caseé, choose

goulr responses (answers). You will select the resp
eel that there is more than one correct response, mark the response which you consi
R Answer Sheet provided. See directions in the OMR

ONLY ONE response for each item.
ONLY on the separate OM
r in OMR Answer Sheet.
one fourth (0.25) mark

You have to mark all your responses
Answer Sheet. Use only BLUE/BLACK Ball Point Pen fo answe
For each wrong Answer,

All questions are compulsory. Each question carries one mark.
shall be deducted. )
ark in the OMR Answer Sheet the response to various items in the Test Booklet, you have to fill in
on the OMR Answer Sheet.

Before you proceed tom
some particulars in the OMR Answer Sheet as per instructions mentioned
After you have completed filling in all your responses on the OMR Answer Sheet and the examination has concluded,
you should hand over to the Invigilator only the OMR Answer Sheet. You are permitted to take away with you the
Test Booklet, along with candidate copy of OMR Answer Sheet.

ded in the Test Booklet at the end.
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¢ Each G _
The diagram Showsofh::e ?‘f’”owll’lg questions given below is base n |Fmp|0)’
GradUate_ e circles each repl-esenling Doctors, Experiencc | splta Y
A W&y 1-2 : Py v 5 !
S M o N e o Lok
YWY

Experienced Hospital \
Employee

(WWW)
o (¥

Post Graduate
(SIEASEY)

Doctors
(Fafre=)

: E i but arc
/ Which t llowin g represents such people who are X])erienc'cd Hospltal Employecs
not Doctors 2

(A) A Only ®) ¢ Ol
(C) A and C Only (D) FandC Only i
ﬁﬁﬁﬁﬁm@ﬁﬁﬁﬁ%m%ﬁ%@mmﬁ%
(A) ﬂT‘%A (B) ﬁl‘kc

(D) fas F ot C

(o Rk ASTC
who are Doctors as well as Post Graduate 7

presents such people
B) BandF Only

Which of the following re

(A) D gnlly . (D) B Only
(c) EOnY g_ary EaeEt ff ¥ ?
ﬁﬁﬁ@rﬂﬁm’maaﬁn%a’rﬁﬁw*m
By fuh B ST F
(A) $ D (D) fé B
(©) E
nd turn left and coOVers 20 m, then turns right and ¢ 20
3 A man facing Weszdgzziclrg ?Uam. At what distance the man is from starting pOintO;’el‘S i
then turns right an (B) 20 m
(©) 40 m tﬁﬂm%@mﬁaﬁtwmﬁﬂmtﬂmwm
10 i qsaT 20 TJoidl
Qﬁwﬁfﬁqﬁaﬂaﬁm zoﬁafﬂ% '“mmmﬁm@“% ?
t,mmﬁm?ﬁ B 207 vy
(A) 307 J) SO ’;?7[‘ ciwor

(C) 40 A
. ulg
3
l“;:e}lb




@/ In a certain code - ‘REASONING‘ is written as ‘TBFSMFMGP". How is *AUDIT
IONS' wri
Fitten

in that code ?
(A) JRVBRMMKS (B) CRRVMMRD
(D) SFTUFMHHM
feren ST ¥ 196 H2 91 A CAUDITIONS:

g “TBFSMFMGP’

et Prfere e s REASONING
1 ¥ o s 7 : P
(A) JRVBRMMKS}” (8) CRRVMMRD 4L Sams 4y
(C) JEVBRRMMK (D) SFTUFMHHM =1
b X i 4-F
5~ Ifall the digits in the number 728195346 are arranged in descending order, within the number
the position of how many digits will remain unchanged 7 e
(A) None (B) One o
(C) Three (D) Two . .
Uﬁm?zswsmasaﬁraﬁaﬁmﬁwﬁmﬁmmmﬂaﬁm?ﬁmﬁ i @
wm ? )
AR o gyacaya®
(5}@? & E-pcﬁlﬂhao.
/6/ What should be in the place of Question mark (2) in the following letter series ?
AC, FH, KM, PR, (?)
A) TV ®). XV
© W o e s s
ﬁwmﬁﬁu%(?)ﬁﬁmwwm? ' A <
AC, FH, KM, PR, (?) e
A TV ®B) XV i &
©) WU (D) UW +
vl
@/ Statement : U v +
P = N > D2 G < B = J ' /
Conclusion :
a P>G =0 +S
an G<J. | ¢ s’ 38
‘A) Oply Conclusiqn [ is true. (8) Only Conclusion II is true.
g;)q :Elthcr Conclusion I or 11 is true. r Both Conclusions I and II are true.
p=N>D2G<B=]
1 P>G
a G= 1.
(A) Prepd | @1 ¥ | (B) fuds Prewd 11 98 ¥ |
(D) Frepd 1 T 11 21 W ¥

fad
(C) mﬁﬁﬁﬂlmllaﬁ% [
At 12:30 the hour hand of a clock faces North and the minute hand faces South. At 2:45 the

8
/ minute hand will be in which direction ?
(B) West

(A) North - West+
© ig{uth 4 aE;fs;ﬁ (D) East
12:30 & T ﬂ%aﬁrrﬁ.wﬁaﬁmmwaa .
A 7 G ﬁ:#afh“?a?raﬂ’r%mASa@rﬁmzﬁqé
(A) Far-TRE (B) wfEd
D @ e v

©) Ty
3 P I
2 Next Page
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If one
star e u ~ 4 . 41
quals to four circles and three circles equal to four diamonds, then what is the ratio

zi Star to diamong ?

} 1:3

R o ®B) 3:4 (C) 3:16 (D) 16:3
AT b SR A g ¥ qen A gE & g an i ¥, @ an @ d A S

(A) 1:3
‘ B) 3:4 (C) 3:16 (D) 16:3

FME 7

25 =22 ~ 26 — 7 and RUST = 9— 68— 7, then how will you code BURST ?

Egz ;i:gz_g_s_.) B) 25-9-6-8-7

“&BE;\T=:5857‘6 D) 25-6-9-8-17 ?

(A) 25 -,L _22_26“7@RUST:‘)—(J—S—?,aaamBURSTaﬁ%fé@zaiﬁ.
AR il (B) 25=9-6-8~7

o i § D) 25-6-9-8-7

If the number in the circle indicates the number of persons, then how many youth graduates are

there ?

aft g A & i wem s @ o whia sl ¥ A R g e ¥ 7

Graduates gs

(wma®)

1l

v i
Employed (Frarm)

(A) 20 (B) 30 (C) 40 (D) 50

mother today is thrice that of her daughter. After 12 years, the age of the mother

fa :
z?lel ;%ct\?vicc that of her daughter, the present age of the daughter is -
A) |2 years (B) 14 years (C) 16 years (D) 18 years
%mﬁmﬁmmﬁﬂﬂﬂﬁ% tiﬁﬁq@wﬁmmﬁﬁwm :
adart ag ¥ -
:f)ﬁlzad (B) 14 = () 167 (D) 18 =

its one half into smaller pieces of equal size,

. cake into two halves and cu | :
e she has seven pieces of the cake in all

A birthday bab);" pieces is twenty grams in weight. If
Each of the sm was the original cake ?

with her, how heavy B) 140 prams (C) 240 grams (D) 280 grams

(A) 120 gEm® of vyt 7 T e o T T ST 2 G
@ﬁmggiﬁmmuﬂiluﬁwﬂawﬁﬁﬁﬁméﬁﬁﬁ’liﬂ%ﬁmm
¥ 1812 3HS g
gt (B) 140 7 (C) 240 T (D) , 280 7
(A) 120 7™

‘8 s
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How is that boy related to Shahrukh ? y 0
son of m
Y grandfa
lh(:r'

f Pointing towards a boy Shahrukh said ‘he is the
son of the
onl
(B)  Brother

(A) Cousin
© ml;n::m - ’ (D) Brother-in-law
+ f e S € 7 ol T 1 v
(A) T By Wi ATAAA ~ 1
(C) (D) &R L v
15 Find the odd word out.
(A) Hate (B) Love (C) Anger D) Cry
P o1 & T it | .
C) @ D) T
(A) T (B)%gmx © = (D)
Then again turns

s 5 kms north, then turns left and walks 3 kms.

1}/ A starts from 2 point and walk :
¢ direction in which he is going now.

ks 5 kms. Point out th

left and wa

(A) North (B) South-

(C) East (D) West
ﬁs%ﬂw%,mmﬁaﬂtgsm3%ﬁ’raﬁm% 1

Aqu‘ﬁ@tu@:ﬁmﬁiwﬁm
ﬁsnﬁww%aéﬁﬁ!aﬂﬁiﬁ ?U\(\

fpr o T T G 5 Rt el
(A) wal [B)
© () T'E;ﬁ A ,{x;
@F:m::L:? “‘n‘
(A) 1723 (B) 1728 (C) 1700 @) 1600 U o
)ﬂ/ Find the odd word out. F ‘ \
(B) Moon - Planets” O ﬂ

(A) Sky - Stars

(C) Stadium - Players
T g 9% BT T B
(A) afrepldl — qr

() wfean - R

(D) University - Students

(B) T=AT - WE
(D) fasafaeme - fyemeft

yl ll'l .

the series.

D__F_DEE_D_EF_DE F
(A) EFFDED - -
(C) EFFDFE :'[3)’] EE‘;‘?SE

Pt At & g8 o g & 1A
H
D_F_DEE_D_EF_DE_F o w01 & ford @ fred T R |
(A) EFFDED -
(C) EFFDFE g EFFDDF
: EEFFDE
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Directiong

items do pey have Hindi Version.

TR 6 () WS (|, 20 X 25) ¥ fog Pra

Sy

A no

}0/ A hostile situation resulting from opposing views.
(B)
(D)

(A) brain-storming

(&)

consensus

The person is awarded is a soldier

(A)  Whom, Whose

(B)
(C)  Who, Whose (D)
227 The word that describes ari action is ;
(A) an adjective (B)
(C) an exclamation (D)
;3/ Communication includes —
(&) Language clarity (B)

(C) Body language (D)

U A

(A) Noun

(B)
(C) Adjective (D)
25 A group technique used to develop Many ideas in
(A) conﬂicfdﬁ (B)
(C) compromise (D)
6
212 B

for the following 6 (six) questions no. 20 to 25 : st 0 G i
' ication
"8 6 questions are based on the Interpersonal & Communic

connects phrases, clauses or sentences.

¢ AF s

compromise ¢

conflict

father is a farmer.
Whose, Who
Whose, Whom

an interjection

an adverb

Facial expressions

All of the abovye

Conjunction

Adverb

a relatively short time,

consensus

brain~st0rming



ing 6 (six) ‘questions no. 26 to 31

D rections for the followin
The following 6 questions arc based on the Inte
items do not have !Li:'ndi. Version. g al & Communication Skill
ﬂ:ﬂﬁm 6 (U) i (S 26 8 31) ¥ fare frder ¢ n_Skills therefore these
ﬁqmaﬁm‘r:r eﬂtmm’nmaswﬁmasmt,mﬁ _
o S
gt A Sl s d R
Match the following parts of speech
a) early @) Verd
@) cute (b) Common Noun
3) People (C) Adjective
@) tailoring d) Adver
A) (1)), 2)-(d); (3)-@» (4)-(b)
®) (I d), (2-©): (3)-(b), (4)-2)
©) (1)-(b); 2)-(a); (3)-d: (4)-©)
D) (1)-@); (2)-(b), (3)-(¢) (4)-(d)
/ Fill in the correct modals and semi-modals from the choice
(1) They NEED join the duty on Friday.
(2) You keep yourself clean
(3) She come often
w1 peep in.
(a) used to (b) dare to (©) ought to d) need to
@A) (140, &9 @)@, @O () @1 G
? 3 ’ -(b)} (4 '(a
©) ()@ (2)-®), 3)-©) 4)-(d) (D) (1)) 2)-(a), (3)-(d) (4;_(‘;;
2}’ The correct spelling for the term which means «gmell’ is
(A) Ofder (B) Odcr
our g 1er OLLA B~
» The Pltf_[al form of the word ‘genius’ is Sin? Pxrdl “
(A) ‘geniuses B i o) de?
© geni (B) genil
(D) geniusses
3/ The synonym of the word ‘nobility’ is N&;\\b
(A) digﬂity —
(C) smart (B) obedience
. (D) handsome
Choose the most ; -
A relicf team wa:Eep;?:an OPUG: o:.:d fill in the blank.
(A) contribute Gy and medicine among the refugees
(C) sanction () dismb“‘cd\l-/"\ X
; (D) separate it
128 QG
oyt ED |

PuArs 7~ C}l




3
@ Match the terms with the meanings given.

(1) Misanthrope (a) Fear of strangers
(2)  Polyglot (b) Spending excess money
(3)  Xenophobia (c) Person hates all mankind
(4)  Squandermania (d) Person speaks many languages
Pt o @1 Pt Rt vt ond 3 e AT |
(1) PR=wy =
(a) oWFE W T (]
(2) vt (b) freerast @)
(3) I (¢) R FEEE ¥ AT AN e
4) waEEtE d) &% g
(A)  (1e). ), (B)a), @)-(b) ® 0@ OO0 ((:))((SJ)

(©)  (1)-(b), (2)-(c), 3)(d), (4)-(a)

Match the following terms :

@) (1)), 2@ (3)-(©),

Study of atmospHeré climate

(1)  Palaeontology (a)
(2)  Ornithology (b) Study of insects
(3) Entomology (c) Study of the foss
(4) Meteorology (d) Study of birds o0
(1) et (a) AYAEH ST B AL
(2) oo (b) @ @B AT
(3) TR (c) iaTsd 1 veraT
(4) e (d) ikl @1 sreme
(A)  (1)-(c), (2)-(d), 3)-(b), (4)-(2) (B) ih-(d). (2)-(b), 3)-(c). (4)-(a)
© ()@, )-b), GHC): D) (D) C"gl")-(b), @)-(c), (3)-(d), (4)-(a)
}4/ Match the following : ch
(1)  Ophthalmologist (a) Who treats kidngy-giseases
(2) Neonatologist (b) One who treats discase of the
nervous system
(3) Nephrologist (c) One who treats critical infants
(4) Neurologist (d) One who treats vision problem
P @1 e BT — _ N
) 75 W foeh & TN & P e & |
Q) - g8 W - & P v
® a5 g R g
J/f e ¥ | ™
@) T (d) @& o gt gad g @ FRE @ &
A) (1)-(d), (2)-(c), (3)-(a), (9)-(b) (B)  (1)-(a), (2)-(d), (3)-(b), (4)-(c)
© (HE: @ EHE. W (D) (D-), @), (3)-(b), (4)-(d)

212 B
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o § B8 mother of T. T is the sister of Y. Y is married to L. L is th
« L is the only son of K

0. 35 to RS
<.~ the daughter of P. s
KB 358 37 ﬂﬁﬁﬁ%lvﬁwmn(ﬁ?m\fﬁm .
LA " LAl
p . L
b
}4 How is T related 10 L & N N . B
Cousin <! ister B .
:é)) gister-in-1aw o (D) Can’t say (Aq;-q_' ] @ : ;‘ ’
T'LQEWWN - (B)
= ot | Ke— XTTTA]
/’ —
. . A
}}g‘j liﬁljthr::ated ol (B) Mother - in - law ')Lhﬂ'“‘
:C) Sister - in - law (D) Grandmother <
B. L & foow @& et t 7
A) (B) W
© ¥ (D)
related to P T

her of X, th rgglow is X
t , IhE
i (B) Grandson

37/ IfKis the m
(D) Can’t say

(A) Granddaughter A
(C) Daughter
2f K. X @1 Ak &, T X, P@maﬁa‘z‘rﬁm% ?
A) (B) /AT
™ (D) @l TE T T

€ T
Q.38to40: In each question below ar€ given three statements followed by two conclusion numbered
| and I1. You have to take the given statements to be true even if they seem tO be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follows from the given statement, disregarding commonly known fact :
uﬁﬁﬂSS‘@l}ﬂ:u’@'ﬂiﬂﬂﬁﬁ mﬁ%m&ﬁﬁﬁdwmﬁllﬁi’rﬂﬁ% | SITIe! WTH ST
@ﬁmﬁmﬂﬁaﬁuﬁaﬁw %laﬁmﬂﬂq@wﬁau‘sﬁfﬁﬁmaﬁﬁﬁn&aﬁaﬁ
naaﬁqmﬁm&ﬁ&ﬁmmmaﬁamﬁm.wmaaﬁaﬁmg Fl E
N , |
Statements :
}V No beggar is poor. i
Some rich are beggar.
All classes are poor. ™

Conclusions :
I All rich being poor is a possibility.
(A g 1 All l:l)eggars being classes is a possibility.
) Only conclusion I follows. (B) Onl i
! _ y conclusion 11 fol
(C) Either conclusion | or 11 follows. (D) Neither conclusion lon]c;):v lSl' follo
WS.

Sy - o
2+ P i T B
g gE § g N

aofr @ TiE ¥ N

I yTed g ;
gﬁﬁg&ﬁgﬁaﬁ?ﬁﬁﬁmﬁl
(A) | e & ¥ | (B) fords Frerd 11 srerer aram & 1

() a @ Fred 1A 11 orgeer aeen ¥ | (D) 7 @ Freed 1 7 8 11 L
L SRR |

212 8
i 9



‘E/Stateme nts .

Some Kartik are Shyam.
Some Ajit are Sujit.

Al Sujit are Shyam,
Conclusiong :

1
Il
(A)  Only

All Kartik being Sujit is a possibility.
Some Shyam are not Ajit is a possibility.

) conclusion 1 follows. (B) Only conclusion Il follows.
(C)  Either conclusion [ or 11 follows, (D) Neither conclusion I nor II follows.
HYUN
8 W, Ty ¥ l’ﬂ'ﬂ'\‘h
D diva, ghra ¥ | @/
wh g, wm y T CID
h‘ﬂiﬁf 3 '

I T F1ftw @ g @Y @) wwram b
11 IO AWM A T TR B wwrE TE ¥
(A) % fFrepd | srgeer s & (B) Tk Fremd 1l srgeer sean &
© =& Presd 1o 11 sreer s & (D) 7 Fred 1378 11 s s &

Statements :
No 90s are 80s.
Some 90s are 40s.
All 80s are 70s.
Conclusions :
| All 80 being 40 is a possibility.
11 Some 70s are not 90s.

(A) Conclusion I follows. (B)  Only conclusion 11 follows,
(C) Either conclusion 1 or II follows. (D) Neither conclusion [ nor follows
Hq1 -
¢ 1 90, 80 THE M
590, 40% |
adr 80, 70 ¥ |
frepd

| 80, 40 819 B W ¥

B
(A) mf"“‘“mm:@h :D) % Pt 1 srgeon e
© a1 @ e 1 an 11 IE ) qmwl?ﬂllmmtl

10
g




Find the minimum number of straight line required
L i
/ A & ford @el @ &) =AW §e s Oaamﬁ ﬂake1 given figure.

g (o BY B 12 ©) 15 D) 16
ngles in the given figure.
r

(A)
Find the number of tria

4 ﬁﬁmﬁﬁ,ﬁgﬁaﬁmﬁrﬁﬁm

| 6 ¢ 8 (D) 10

(A) 3 (B)
?/ Which of the following element should come in a place of () ?
qsqﬁ%(?)%mﬂﬁﬂﬁ‘@raﬁﬁmaﬁ ?
AB3 CE6 FI10 JN15 ?
(A) O0T20 ' (B) TO2I () OT21 ( (D) TS21
44 Study the following and answer correctly. é o
/ Statements : Ag C@E z uls
Some Mangoes are Bananas. 47
Some Bananas are Apples. 9 273
Conclusions : /G
I Some Apples being Mangoes 1S @ possibility. O 4+
II No Appleis a Mango. A S ps *g
(A) Only Conclusion I follows. (B) Only Conclusion Il follows. i
(C) Either Conclusion I or 11 follows. (D) Neither Conclusion I nor II follows
Prer o7 o BT Al g8 sux afd | '
Fad .
35 oM, & b x® Her - T q,l,—';&
35 &4, 94T | % ¥ =
P 4~ WG

I wﬁﬂﬁmﬁ%aﬂﬁmtl

o @ o &, o T E
(A) fes P 1 e el € B) fak Premd 11 orgeRer &% ¥ |

(C) mﬁﬁﬁélmllmmﬁl (D) A Frend 19 & 1l Srgaxy e ¥
' | |
jﬁ/lf cloud is called white, white is called rain, rain is called green, green i 1l
; is called air,

air is called blue and blue is called water, where will the birds fly ?
(A) Air (B) Cloud .

(©) White (D) Blue
#mmm,mﬁaﬂwm,aﬁﬁmmm_maﬂmmm

afz aweT

Wa‘lfﬂﬁrwmuﬂﬂmﬁmﬁrwm.?hqaﬁaﬁm?

(A) Lty
(D) en

Q- W
212 B Cﬂ“(ﬂ\ = ‘H’k‘t
i it ad -

O T rﬂqw—w/}



the
5 yare of
3 hat 15 the sq
@ If the sum of three consecutivé numbers 1* > (:;) 25 deten‘nined
(A) 16 D) Can nO be ;
(C) 36 : it fesc ! '
Hﬁﬁ?mmﬁﬁm |5'€fr€rmmﬁ 25
(A) 16 ® au:rﬁﬁﬁmmm
(C) 36 ®
2/ Fill up the following. ) )
PENCIL : GRAPHITE : : ——— " 57" House : Brick
(A) Pen : Refill Dress ° wool
(C) Car: Steel ©@)
fore @Y gfd @it |
Agd IwEE i — :
(A) i R ) A
(C) @ : T @ W
s’ 2 T 7 \&
7 3 4 ﬁ a - a
9 8 W
126 168 216
(B) 3
A) 8
EC)) 6 (D) 36

How many Mondays are the
wednesday ?

re in a particular month of a particular year, if the month ends on

B) 5

) : D) C .
© 3 (D) Can “°t. be specified
qﬁq@e{maﬂﬁwﬁﬁms‘l, ﬁ@aﬁaﬁ%@mqﬁﬁmwﬁ .
B) 5
A 4 _
© 3 (D) fiffe 78 Hx g gu.ﬁ:{fi/
A sum of Rs: 1750 is divided amongst A, B, C and D such that
A-S Share : B’S Share = B’s Shal’c z C"s Share = C"'S Share : D:S Share _ }_
"t
.. s share ?
How much 1S C’ss )
1750 @1 A, g, C &t D & &= 5wy afer ww ¥ f5
" \ Qe ‘)‘}
; g gt wnT = BT HRE £ C =G : e
Sy WW'DWW=§-| 2) )
1 ¥ fenar 1 7 4 an
© D) 216 )L L)
v C,]{H"\’-'\ ’g':b e_' -~
212_B = 12 Aty T
3 Next Page
&Q%I'L
é/“f"\.ﬂ-l1 ‘.‘,m‘_‘ *M‘—j




51

52

53

55

¢ and “P= 3024, find 7 and x.

If "CI =12
o "C, =126 airc "' P, =3024 &, d T x H A T .
@ 73 (B) 8 4

D) 9.4

€ 83

A man takes 50 minutes
speed of 10 km/hr, he covers the same distance in .
A) 10 minutes B) 20 minutes
© 30 minutes (D) 40 minutes
ﬁﬁﬂﬁmﬁﬂﬁ{ﬁmﬂﬂi{ﬂaﬂmﬁﬁ@aﬁﬂaﬁmﬁﬂ?ﬁww% | afy =@ 10 fed/a
aﬁvﬁlﬁwt,ﬂaﬁqﬁaﬁﬁaﬁmﬁaﬂm ?
@A) 10 @) 20 frE
©) 30 firFe (D) 40 e
Which is the largest : 2, 43, 3s. ﬂg ?
2,45 %,%Eﬁ@raﬁqaﬁﬁw% ?
@ P ! ® ¥

o 5

©) B

The average i
ge age of 14 students is 14 years. If the age of the teacher is added the av
average increase

by 1. What is the age of the teacher ?
(B) 30 years

(D) 29 years

(A) 32 years
(C) 28 years
14 Fanfeia @1 ofred
mﬁﬁmw%?ﬂHMﬂﬁ%luﬁmmaammaﬁ% ar efea
(A) N s
() 287 @) g

(D) 29 a4

18 people can do a w i
A ork avs
be required ? in 45 days. To complete the work in 30 d
any people wo
uld

18 afw fad ®d & 4 :
5 fm ¥ qu T gaa & | @ @ 30 R ¥ qu e
¥q fart Rl
@l

(A) 27
© 30 (B) 21
(D) 45

212
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56

57

58

59

i 4 - If of the a !

ois (;:“:z pre_SGHtly one-third of the age of his father. After 7 years he will be ha 8¢ of !

A I Find the present age of the son. %
& = (B) 15 years 2

©) 19 Years 7 g "

:Eaﬁ mmﬁmﬁmﬁwm%nﬁ%qﬁﬁmmmﬁﬁmaﬁm

B | e ong e e
= (B) 15@d
(©) 10 =§ 5. s

Which option contains the fractions in ascending order ?

ﬁ?ﬁﬁmﬁ‘ﬁm’mﬁmi‘f%?

11 13 18 9 9 11 13 18
(A) o e i S (B) L SR
12°17°23°13 13°12°17° 23
11 18 9 13 9 13 18 11
() = D) ==

12°253°13%17 13°17°23°12

A person has some hens and some cows. The ratio of number of heads and number of legs is
18:43. Find the number of hens, if the number of heads is 72.

ww st % o ge gt od gv T ¥ 1R A wen el 4 @ wem a1 arqum 18:43 % |
afr R @ wen 72 ¥, o g @ e Al |
(B) 60

(D) 62

(A) 58
©) 56

filled in 6 hours but takes 4 hours longer to fj|] because of a leak in its

k is normally : o
i full, then the leak will empty it in how much time 9

pottom. If the tank is
20 hr B) 12 he
A
” 16 hr ®) 1S hr
(®) | .
mﬁmﬁm:Mﬁm%mﬁﬁmm%wwﬂﬁmﬁmmgl
wmg@ﬂﬂﬁ,wmwmﬁwﬁmaﬁm?
= g2l (B) 12 g
20
(A) i

el
© ' "



pirection (60-61) :- Study the following graph to answer the given questions :
i

production of a com

pid (60-61) :- fAm

pany (in lakh units) over the given years.
mﬁtwﬁ@ﬁqﬁ-ﬁamm areggs Bl

ﬁa:ﬂﬂ%ﬁzﬂiwﬁﬁmmﬂ(mmﬁﬁ)

61

62

units in lakh / g&ETl @@ o
)

g o
c ' oducti vious year ‘/
Which year had the highest percent increase 1n pr duction over the previo y
y

ﬁaﬁﬁﬁaﬁmﬂﬂﬁﬂﬂmﬁwwﬁrmqﬁg ?
(B) 1999
(D) 1997

(A) 2000
(C) 2002
What is the approximate average production (in lakhs) for the given years ?
ﬁﬁw&aﬂ%%ﬁwaﬂww(ﬂr@ﬂ)m% ?

(A) 18 (B) 185

©c) 19 (D) 20

contains 25 paise, 50 paise and 1 Rs. coins. There are 220 coins in all and the total amount
ébt;g bag is Rs. 160. If there are thrice as many | Rs. coins as there are 25 paise coins, then
in the ; . hric
what is the number of 50 paise coins ?

e % 25 4@ 50 4 e | oud & faaw WO E | e & o 220 Faak & T & ¥ g @A & 160
?.urum&mﬁzsw%ﬁﬁﬁmmwa,msoﬁﬁ%mﬁfaﬂ%ﬁ:ﬁﬂw% ?

B) 40
(A) 60 (B)

' 80
©) 120 (D)

b :



63

64

65

ing in the sap
When running In ¢
TWo traing length of 130 m and 110 m run on Pam”el Aracks

direction, faster train cross slower one in 20 sec. While einE h train.

Speed they Pass each other completely in 12 sec. Find speed e et
4w gt o o

10 SR 110 B et 21 3 e e e A <@ ¥ 17 B R A AT gaz@s—iﬂﬁ

Wﬁﬁaﬁﬁiﬁmﬁzomﬂrmm% lmﬁﬁﬂﬁ"ﬁémﬁmﬁmg

‘2ﬁgﬁw:mmwﬁﬁi | W 3 i T T i |

(AYOB0 m/s, 20 m/s

0 :

opposite direction at thej,

(B)("’“Jti m/s, 4 m/s
(C) 20 m/s, 8 m/s

(D) 15 m/s, 27 mys

N
A batsman has a definite average for 11 innings. That batsman score 120 runs in his 12th inning

duedo} which his average increased by 5 runs. Accordingly, what is the average of the batsman
after}2 innings ?

Qﬁ(;%'ﬂﬁt(batsman)ﬁ 11 3fma & ffYea ofraa & Iwmﬁmﬁgﬁmﬁf 120 = &1 @R
e foraes HoT SHS! offed & 5 i @ Ife & lwmﬁlzm*“ﬁﬁﬁﬁmaﬁmaﬁm
T ?

(A) 65 (B) 60
N
(C)<t70 0 7
N
N
- ich included 5 boundari :
A baman scored 125 runs which include undaries and 6 sixes, W

hat percent of the total
ore did he made by running b/w the wickets ? pergentio
sC

5
1 (B) 45=9
<550,
(A)(\]SSS/ 1
o)
o0
4 (D) 559,
Y)55—-%
(C)( 555

| 16
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0. No. (66-70)

Study the following information carefully and answer the questions belo
Ao

Following are the conditions for selecting an ,I_T Officer in an organization.

The candidate must - ~
@ hes B. E. / B. Tech. in IT or Computer Setence with at least 60% marks

(i) be at least 20 years and not more than 26.years as on 01-11-2016.

(iii) have secured at least 60% marks in writtem test.

(iv) have secured at least 40% marks in interView.

e of the candidate who fulfills all conditions except -

In the cas
his case be referred to as GM.

(a) at (ii) above, but is a post graduate,
(b) at(iv) above, but has secured at least 35% marks in interview and at least 70%
marks in the written test, his case to be referred to as VP.

N

: <!

397 wem (66 & 70) | N
mwﬁmnﬁ*ﬂ%&ﬁ?ﬁﬁﬁﬁuﬁmm%:

e 3 IT it ¥ <o & fore ot ot ¥ %

T H -
@) IT o szt & & B. E. / B. Tech. # ¥4 ¥ 60% [+ 1 TR |
(ii) 01-11-2016%'&?!313“%3#203&3;!‘& {26 %rawﬁ:zaanq;|
ity e e § - 2 607 e R AL B
(iv) mmﬁm%m@aﬁammﬁl g

38 wemeh ¥ ¥ # o fe @i o wRyl Fa ® fEm - O

(a) m(ii)m,mﬂw@m*%\GM%mmmmm,

(b) R (iv) T, A TR § W A T 35 %[0 W fofew whan
wra fem ¥, @@ W VP & a1 W I m(?,m “ﬁ‘"*"“%m;m"/o]aia;

66~ Kumar was born on 19th March
_ . 1995. He has secured 65% marks i
: ?2% marks in _both written test and interview. Which of the f:;]loirz' e ‘BE-IT' He has socuree
if Kumar applies ? ng Will be a course of action

_ N
22; I;:mar Wl:: be selected. (B) Datatinadequate to takela decision
mar will not be selected. (D) Kumdr will be referred as GM -
grﬁg%ﬁ;gﬁaﬂgmmlmBE-lTﬁﬁ% o RFl | 58 Rfag ) _Post.
62% m&‘gmanﬁa‘rrmﬁ _ﬁmﬁfa&:ﬁ:&m@mw
(A) FER &1 TG99 & W (B) ﬁvhﬁﬁtggmm.ﬁﬁ?
(C) W %1 =TT T & | (D) W@GM@W%%%%;{WW
|

212 B
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2d 70% marks
. Tech. and
rks in B-
6)/ Venkat wag born on 7th November 1989. He has secured 70% ma

interview.
: itten test and 1n
0 his M. Tech. He has secured 65% marks in both written

.2 5 lies ?
Which of the following will be a course of action if Venkat app
(A)

He wil be selected.,

(B) Data inadequate to take a decision.
©)  He wiyy not be selected.
(D) He will be referred as VP post, ' |

) i h. ¥ 70% i
IHZ Y TR 1989 &y 3 A IFR B. Tech. ¥ 70% aiw yra fed Td M. Tec
S e ¥ |m%ﬁaatrﬁm'qa*mwa=ﬁi¥ﬁs%mmﬁﬁ

wfa%mawmqm%,mﬁqﬁmaw&;(courseofacﬁon)aﬁﬂﬁ@ﬁ ?
(A) SERT TET | e

(B) ﬁ“’rﬂﬁﬁ%g_mmhﬁl
© SHBT T97 & B |

(D) mwm%mmmm 1

®8 Lata has secured 78% marks in written test and 38% marks in the interview, She secured 62%
in B. Tech-IT and was bom on 12th Jan, 199 Which of the following wily be a course of action
if Lata applies ?
(A)  She will be selected.
(B)  She will be offered VP post.
(C)  She will not be selected,
(D)  She will be offered GM post.
mﬁ%mﬂs%%wﬁﬂhww%mmmﬁmmﬁ
ﬁﬁz%aiasmﬁs&qﬁmmlzmaﬁmglaﬁgmmW&m IW%B.Tech-IT
amﬁﬁ&l(courseofaction)m@fﬁ’ﬁ ? ”'E'W%,Eﬁﬁﬁlﬁ
(A) S T ¥ g |
(B) ¥ VP&t o8y ity & iy |
(C) SHH =TT 7 gy |
(D) I8 GM B Gz oy aifr & o |

18
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f9/ Disha was born on 26t July 1991. She did her graduatio
j = .-, 2 l
science. Which condition/s below will lead to her selected In; T ity
e GM 7

t' .
10N in computer

in graduation.

She secured 65% in M.E.

o, marks in written test

() Both () and (i) (B) (iii) Only

© 0 Only (D) Both (ii) and (iii)

26 g 1991 @ g o Jmﬁmﬂ@aﬁqﬁqﬁz&q@ﬁwmﬁmmi
e B Y ST F st ?

(i) She secured 68%

(i)
(iit) She secured 63

and 74% marks in interview

prr & A B
@) a@n)@zsﬂﬂtss%am;mﬁgqr
(i) aﬁM.E.ﬁéS%aq‘wmgqa
(iii) a@ﬁrﬁgﬂuﬂmﬁ&%aﬁwmﬁr{ﬁM%aﬁﬁmgn
@ () & i) T @) fad (i)
(D) (ii)aﬂ'{(iii)a’ﬁ’f

) fab ()
ondition(s) below will lead to her

IT in the year 2012. Which ¢

79~ Meghna completed B. Tech. in
selected as the 1T officer ?

(i) She secured 65% e written test.

marks in th
(i) She was bom on 4th Nov. 1990.

(iii) She secured 50% marks in interview.

(A) Both (i) and (iiD)
(B) Both (ii) and (i)

(C) Both (i) and (i1)
(D) Data provided are inadequate to tak

frEr-’lT%mﬁmlszlTﬁB.Tech.t{ﬂml

23 % i smEt B ?
(i) :m%ﬁtﬂaawﬂmffﬁ%aiaawa&ﬂ/r
(ii) et T 4 F@ET 1990 ®I g o
(iii) 5§ @ & 50% ofd gra g |

(A) (i) @t (iii) @

®) (i) o (i) T

© (i) &t (i) &

(D) oy i wr Pofa @ g orata ¥
19
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7 Statemem v

Cotcl s Gokul is the only son of Suresh and Rani.
Aclusions . (1 Suresh and Rani have one son.

(I1) Gokul has one sister.
Choose the

i ion 11 is valid g

() oy cometconelusion @ onty cocsion 115 S i
(C) Eilher concluSion I or II is valid (D) Ncither conc
s T T I g v e §

"D R T T ¥ v e b

U)o % v qem 3 -

|

(A)  frds Preot 1 ag & | (B) fuk Pt AW E N
© =13 fravs 1o 4 3 D) AP I AANAE

: . . g icket match, th
7}/ Jyoti has inviteq her three friends to her house. While watching a live cricket m °y

decided to order Pizza. In between the overs, the phone number of a pizza shop flashes briefly
and they all Y to remember it and tried to recollect the numbers as listed below.

() All the four have agreed that the first three numbers are 421.

(i)  Two of them agree that the fourth number is 9.

(iii) Two of them said that the fifth number is 6.

~ (iv) Three of them agree that the sixth and seventh numbers are 8 and 6.
ich of the number is most likely th

aﬂﬁ%mﬁéﬁﬁsﬁaﬁmmw

(A) 4219668

(B) 4219696
(C) 4219686 (D) 4218686
r]a/ According to John Bransford and Barry Stein, the steps involved ip decision making are
(P)  Exploring possible strategies

(Q) Defining and representing the problem
(R) Identifying the problem
(S) Looking back and evaluatin

g the effects of one’s activities
(T) Acting on strategies

Q) mzﬁrqﬁwﬁaqﬂmﬁmf@
(R) ¥FE & TEAH &

msr@mm%mwwﬁﬂm
(S) ot

(1) g8 ; B -
s T

®), Q. ®), (), () B ®. Q) @), (1), g,
@ ®. 6, @ D ©) ®, S), M, by

i
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Directions for the following 8 (eight) questions no. 74 to 81
1s are based on the following passage in Englis|
= Sh to test th .
¢ comprehension

uestior
stions do not have Hindi Versi
S10n,

ge and therefore these que

(ore) st (8 74 a 81) ¥ forg Frdar

sgw,fmasﬁqﬁifbﬁqﬁiéiwmrﬁa

sﬁﬁﬂﬁmaﬁﬁmwwm
4 be getting i everybody clse’s way and nobody would get anywhere. Individual
er of the world getting Ij_tzgi‘ty-drunk in these

W)’ There is 8 dang

Jays like the old lady with the basket, and it is just as well to remind ourselves of what the rule of
th; road means. It means that in order that the liberties of all may be preserved, the liberties of
everybody must be curtailed- When the policeman, say, at piccadi Iy gg_us, steps into the middle of
the road and puts out his hands, he is the symbol not of tyranny. but of liberty- You may not think so.
you, may being in 2 hurry, and seeing your car pulled up by his insolence of office, feel that your
liberty. has been outraged. “‘How dare this fellow interfere with your free use of the public hi ghway ?”
Then. if you are @ reasonable person, You will reflect that if he did not interfere with you he would
interfere with no onc. and the result would be that piccadilly circus would be 2 maelstrom that you
would never cross at all. You have submitted to 2 curtailment of private liberty in order that you may

r which your liberty 2 reality.

The following 8 4
of English Langua

¥ ofre ofirell AT % @ & wham % for
S8 |

prfitad

T

enjoy a social orde

ow which word closely relates to the word “Lawlessness” ?
-_'_______.l——-‘ ’

74 From option given bel
(A) liberty
(B) anarchy
(C) reasonable

(D) preserved

75  Which statement describes the word “Reduced” ?
teduced™

(A) The liberties for everybody must be curtailed.

(B) Liberties of all may be preserved.

(C) Individual liberty would have become social anarchy

(D) You ma

212 B 21
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low.
ce be
: senten
d word from given
: line
% Find the closest synonyms of the under

78

79

80

81

He

iS the SYmbol not of tyranny but of liberty.

(A) Monarchy
(B) Autocracy
©) Democracy
(D)

None of these

Find the noyp

- ce.
from the given options based on provided S: n:::elstl'om that you would pey,
... the result woylg be that piccadilly circus would be o
Cross at aj) »
(A) Piccadilly
(B) Circus
(©) maelstrom

(D) an of aboye

Find the closeg

L antonym of the underlineq word from

given sentence,
The liberties of all may pe Preserved.
(A) Undecomposed

(B) Unpolluteq
(© Decomposed
(D) Maintaineq

everybody else’s a
(B) Individuya] liberty would haye become social Stabj] o body Would &€t anywhere
(®) Preserving liberties of everybody muygy be Curtajleq
(D)  None of the above
Find the verb from the given Options based on Provideq Sentean
“.... feel that your liberty hag been Outraged »
(A) feel
(B) liberty
(C) outraged
(D) been
Find the opposite of the worg “Witless™ from the givey, optio
(A) anal‘Ch}’

(B) curtailed
(C) reaS()]'lab]e
(D) insolel‘lce

22
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Q. No. (82 - 84)
or a job in a company, a candidate must fulfill the following cri
‘riterin ¢

F
_ Age should be from 24 to 30 as on 15 Feb 2021.
- Must have secured atleast 58% in B. Sc. Maths.
i Must have done pustgraduate in Maths or Statistics with at least 65% marks
= Must have an experience of at least 2 ycars. ’
_ Must have secured 60% in written test and 50% in the interview.
qed q& 827 84)
fy ST A AHT Uob)%amsﬁﬁﬁqﬁfﬂamﬁqﬁﬁmmﬁ%
- 15mﬁ2021a:ﬂaauz4a30maml
~ B.Sc.nﬁmﬁmamss%aimarﬁaﬁmmaml
- m%més%siaa’f#mﬂnﬂamﬁﬁaﬁﬁﬂamz‘ma@l
2 Tfed |

&9 & ¥ 2 T & AT
Pt whem d 60% T FETHR

= 3 50% wrai® e aifeq |
ria, then which of the following criterion / criteria is not

82 Yogesh ﬁ]lﬁlls all the above crite

essential for selection ?
(i) He was born on Ist June 1992.
(i) He completed his graduation with 66% marks and secured 75% in class 12.
(iii) He has worked for 3 years in MNO company.
(iv) He secured 65% in post-graduation in maths.
(v) He got 60% in written test and 60% in the interview.

(A) (iii) Only

B) (i). (i), (iii) and (iv) Only

(©) (), (i), (iii), (iv) and (v) All

(D) Even with all given information, he will not be selected.

%gﬁ;ﬂ?aﬁ amqevel @1 g0 fEa &, @@ Prer wraEE/MTTEvEl § A HH &1 gy (selection) ¥
(i) Tqa T | 9 1992 & Fe Al |
(i1) ﬁ%:;?ﬁ % @1a @ @ uiy (graduation) quf @l Td 12 dF wan & 75% o
(iii) a3 m@ MNO doh # 3 @ra & fan &
(iv) Tfora # STIET® (post-graduation) § T&T 65% i aifsfa fmd |
v) Bﬁfﬂf@ﬂﬁmﬁw%ammwmﬁbﬂ%emm@ |

(a) fad (i) .4

@) fab (@), (i), (i) &t (iv)

) @ (i), @@ (i), (V) ot (v)

(D) ﬁﬂ?ﬂ‘ﬁ?@mﬁff%ﬁ%wmmqﬁm i
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. is not essential
' ] ‘ at n / crlterla
83  Vijay fulfills all the above criteria, then which of the following crite! e

for selection ?

(i)  He has worked in a company for 4 years.
(i) He got 70% in B. Sc. Maths and 68% M $c. Statistics:

(iii) He sccured 60% in written test and 54%.Ih intef view:

(iv) He was born on 3rd July 1994. N

(v) His score in class 12 was 85%. Qo
(A) (i) only @y b only
(C) (v) only D) (i) and (iv) only
mmwmﬁwmtﬁmmmﬁﬁmmw(selection)%q

rfrard & ¥ 7
() <E & G N 4 9 b A ¥
(i) & B. Sc. 7w ¥ 70% T M. Sc. FifeaRiH 68% o qIa foFd |
(iii) m%f&arrhm%o%qamw%@mmmn

(iv) ST 4 3 s 1994 & 57 | o
(v) 12 @er § Igar @i 85% A | ™
(A) R (iii) B) R (ii)
(C) & (v) (D) fad (iii) afT (iv)

84 . Aradhana fulfills all the above criteria, then which owe followinio et
. ; g criterio Beogin 3 .
much essential for selection. n / criteria is very

(i)  She scored 85% in class 12, N
(i) Her age was 26 and got experience in a %pany for 3 yea
Is.
(iii) She completed B. Sc. Maths with 59% apdyM, S¢ Maths with
: ith 66%.

(iv) Her score in interview was 54% and in written test jt was 68
0.

(A) (i), (i) and (i) Only (B) (i), (iii) and () O
o s, n
() (i), (i), (iii) and (iv) Only (@) (i), (iii) and (i) @ 1y
nly
WWMW&ﬁWW%.ﬁﬁHﬁ@mm
AN 8 T (selection) 5|

qArAE &
(i) wad 124t e ¥ 85% whrT W A | ol

(III) g’.{ﬁ‘ B. SC.'T&ET 59% aih & 91y qyr M.g.nﬁHGGG/ ‘
o 3§

(iv) e @I T ¥ 54% U s Tham ¥ 68y o | a‘mﬂ‘{nfa;ml
b @ 0 ot (iih) ®) R (i), i) o
o f O (0 S O TS W, iy ot \;)
v

24
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d the passage and choose the most appropriate option : (Q, N
. + No. 85 to 88)

of Education is a label applied to the study of the purpos
dered a branch of both, phi €, process, nature and 3
ered a branch of both, philosophy and education. E e and ideals
. . . . Ed ’
g of specific skill and the importing of knowledge ‘;'::lon can be
tutions of education we often Sizflem and
ak of.

Rea

philosophy

n. it can be consi

earnin

roader than the societal insti
ak and woolly field, 100 far remov

Y ed from the practical

back to Plato and the Ancient

little doubt that their work has

of educatio

defined as the teaching and
wisdom, and is something b
we
1. But philosophers dating
is

Many educationalists consideréﬁ%
f the real world to be us fu
he area much thgught and emphasis, and there
atiohover the milennia.

hinker; and education is an €
written around 360 B.C.)

heir mother’s care and

applicalion 0

Greeks have given L

d shape the practice of educ
ssential element in

helpe

st important educational t

Plato is the earlie
phy and political theory

removing children from t

“The Republic’ (his most important work on philoso
to the various castes. the

In it, he advocates some rather extreme methods :
raising them as wards of the state, and differentiating children suitable

highest receiving the most education,s9 that they could act as guardians of the city and care for the
less able. He believed that education;phould be holistic, including facts, skills, physica] discipline,
music and art. Plato believed the taléhf and intelligence is not distributed genetically and thus is be
found in children born to all classes%hough his proposed system of selective public education for
an educated minority of the populatigfi does not really follow a democratic model.

habit and reason to be equally important forces to be cultivated
hould be to produce good and virtuous citizens. He proposed
hat repetition be used as a key tool to develop
listeners to bring out their own ideas.

Aristotle considered human nature,
in education, the ultimate aim of which s
that teachers lead their students systematically and t

good habits, unlike Socrates’ emphasis on questioning his
d the balancing of the fRebretical and practical aspects of subjects taught, among which
A whic

He emphasize
fHlo, mathematics, music, physical education, literature, history

the explicitly mentions reading, wri
and a wi i i
wide range of sciences, as wegfs play, which he also considered important

During the Medieval peri AL
period, thé&dea of perennialism was first
ormulated b :
y st, Thomas Aquinas

in his work istro’ iali
R De Magistro’. Perennialism holds that one should teach those thj d to be of
sting Importa | = ke
g importance to all people everywhere, namely principles and r iy ¢ just facts
easoning, no

(Which are apt
to .
e l:’ change over time), and that one should teach first aboyt o
. It was origi - ; not ma
originally religious in nature, and it was only much | people, : 5
ater that a t eory

hines or

secular

Perennialism dev
cloped
. (\J
f the
a5 oneé o

During the Renai =
1o grifivally IOOka:szzzz. l'he frepeh skeptic Michel de Montajgpe (153 3.1592) W
?O“VEnlional i s atllon. Unusually for this time, Montaignc Las willing 10 jestion the
and he implicit assump Pcnoc.i Mng into question the whole edi f the educ'ationﬂl system,
ption that univérSityeducated philosophers w;:n;:'::s;”y wiser tha jneducated

[
m workers, for example
22 8
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between the approaches of Socrates and
S and Arist
otle 7

85 What 18 th \ i
. (A) Aristotle felt the need for repetition to develop good habits |
students need to be constantly questioned. 1S in students, Seocy
Aristotle felt that need for rote-learning: Socrates cmphasized on d; S
There was no difference. " dinlogic learning,
hasized on the importance of paying attention o human nat |
ure, Socrates

[ Aristotle emP
emphasized upon science:
g w oyt & HE Rolg & 7
ﬁaﬁmfa‘aﬁamﬁmﬁﬁmﬂmmﬁaamwaam —

L IE

| ey e e g

B) T 3 A fa ﬁa ,
g9 B ferie
:g; ﬁﬁmuﬁﬁﬁ?mﬁﬁmﬂﬁmﬁm;gﬁm%w“ﬁ?m |
; . : 5
Wwhy do educationists consider philosophy a ‘weak and wool ly field
(A)' It is not practically applicable.
) Its theoretical concept are easily understood.
©) ltis irrelevant for education.
(D) None of the above. ‘ .
fsmrsrreﬁ’rashsnﬁaﬁqﬁ FAAR d TEE o i A § 7
(A) T 3 @y E e | ‘
(B) dgifid oA ST & @I A amdr ¥ |
(C) % Pl 7% GTEITD T
(D) §q aE T |
87 What do you understand by the term perennialism’ in the context of the given comprehension
passage ?
(A) ITees LR E thing which is of ceaseless important.
hich is quite unnecessary.

(B) It refers to some thing w

(C) It refers to some thing W eoretical.

(Q} \lt refers to some thing which is existed in the past and no longer exists nOW.

b T Ay e & e § s (perennialism) ¥ o w1 W ¢ 7

(A) %mﬁ%ﬁﬁzﬁhm%ﬁﬁ%qﬁaﬁ% I

:g) “Wﬂ?ﬁ?ﬁ%’fﬁaﬁiﬂw%ﬁﬁﬁﬁmwsw% |

(Di zmﬁfiﬁﬁﬁﬁfﬁhm%a’rﬁﬁwwmi‘ |
mﬁwmﬁhmmﬁmwﬂmw@mmﬁﬁz |

hich is abstract and th

88  What w: :
) H:S;; ‘:E:; el;!atli:) s beliefs about democratic education ?
(B) He believed ina;ef::i th:': riczjh have the right to acquire education.
(©) He believed ratic education.
th d
(D) He believed thal only a select few are meant (0 attend school
Wiwdita ey % al. all pupils are not talented PR
(A) @ TARD ww i
(o o e e o) ) o
- &1 syt § |

(€) v
Wmﬁqﬁmmﬁwﬂiwﬂqﬁ@g |

fs woh
212 B O Tl T E ¥
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e ; omprehension

Directions for the following 4 (four) questions no. 89 to 92 : English to test the cOmP

The following 4 questions are based on the following passage mHindi Version.

of English Language and therefore these questions do not have ¥ fa ¥
4 (W) vt (4. 89 % 92) % forg Pm - e o s & A & TaE

f*rsrhftgausmsrmaaﬁnmmem%m

Wiﬁuwﬁmfﬁrm?ﬁ%mmm%l

- ther with her
ientists in history. Toge
arie Curie was one of the most accomplished scientists in history
husban

. and studied
i eating cancer,
d, Pierre, she discovered radium, an element widely used for treating
uranium andg

ion later helped
ie’ i collaboration
other radioactive substances. Pierre and Marie’s amicable
to unlock the secrets of the atom.

' of physics,

Marie was born in 1867 in Warsaw, Poland, where her fathf:r. waIS_I a pr(;f;SZifllber:nge for
At an early age, she displayed a brilliant mind and a blithe personality. Her irecame Hisgrimtied.
learning prompted her to continue with her studies after high school. She S g,
however, when she learned that the university in Warsaw was closed to Womenl'j s S
receive a higher education, she defiantly left Poland and in 1891 entered‘ the Sorbonne,
University, where she earned her Master’s degree and doctorate in physics.

Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists of
her day, one of whom was

Pierre Curie. Marie and Pierre were married in 1895 and spent many
productive years working t

ogether in the physics laboratory. A short time after they discovered

radium, Pierre was killed by a horse-drawn wagon in 1906. Marie was stunned by this horrible
misfortune and she endured heart-

breaking anguish. Despondently, she recalled their close
relationship and the joy that they had

shared in scientific research. The fact that she had two young
daughters to raise by herself, greatly increased her distress,
Curie’s feeling of desolation finall

husband as a physics professor at the Sorbonne. She was the first Woman to be given g
at the world - famous university. In 1911 i

89 The Curies collaboration helped to unlock the secr
T e €15 of the 4
(A) friendly (B) ' competitiye s
(C) courteous

(D) industrioyg
90  Marie had a bright ming anq 4

Personality,

(A_) strong (B) Iight-hearted

(C) humorous (D)  strange
91  When she learned that she coylg oy attend the university i

(A) hopeless (B) annoyeq ArsaW, she felt

() depressed (D) W()rried .
[ p R — byh]i?: gl i traveni“g to France

(A) challenged authority (B) Showe it: oter the orb

(C) behave (D) Was distre;?lcllge“% Hns,

e
28
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ng 4 (four) questions no. 93 to 96
are based on the followin i
B passage in Engl;
“nglish to

\erefore these questions do not have Hindi o5 the
indi Version. Comprehension

DireCtions for the followi
The following 4 questions

Jish Language and tl
o 03 & 96) ¥ forg Fdar

4 (?:ﬂ'(') FERLEL (ii'
ol & I#ﬁﬁﬂiiﬂﬂ qiEE 9v amenfra & ot oSl wrar & =y
) 7 % for ¥

s e |\

4 weAter o
m:gqgaqisﬁaslfev—cﬁmaé’rﬁmmm%r
The victory of the small Greek democracy of Athens over the mighty Persian
ous events in history. Darius, King of the Persian En!:‘:pire in
lrev Was

other Greek - City - States in revolt against p
ersian

490 B.C.. is one of the most fam
to defeat Athens. He thought it would tai
[ =

Athens had interce
_ the King sent
cify the rebellious P

ded for the
an enormous army
art of the empire.

Persia was U hens, l.wwever, .all f:itizens helped to rule. Ennobled by
this participation, Athenians were prepared to die for their city-state. Rcrhaps this was the secret
of the remarkab athon, which freed them from P.er:swn rule. On thelf way to

| some Greek city - states by claiming to have come in peace.
s. Not wanting t0 abet the conquest of
ft. They were wise,

The frightened citizens of Delos refused 10 believe thi :
their city and did not return until the Persians had le

Greece, they fled from

for the Persians next conquered the city of Eritrea and captured its people.

Tiny Athens stood alone against Persia. The Athenian people went t0 their sanctuaries. There

deliverance. They asked their gods to expedite their victory. The Athenians refurbi shed

d moved to the plain of Marathon, where their little band would meet the Persians.

from Plataea reinforced the Athenian troops.

ked, and Greek citizens fought bravely. The power of the mighty

that the Athenians had for their city. Athenians defeated the
d Persian ships and burned them,

Greek soldiers seize
4 famous historian, reports that 6,400 Persians died,

they prayed for
their weapons an
At the last moment, soldiers

The Athenian army attac
Persians was offset by the love
Persians in both archery and hand combat.
and the Persians fled in terror. Herodotus,

compared to only 192 Athenians.

93  Athens had the other Greek City - States against the Persians.

(A) refused help to

(B) intervened on behalf of
(C) wanted to fight

(D) given orders for all to fight

94 i i
::;a)nusw':ga:kke drastic steps to the rebellious Athenians
¢ .
e (B) destroy
(D) irritate

95 i ici
Their participation to the Atheni
enians.

(A) gave comfort
(C) gave strength (B) gave honour
% The people of D W B fear
(A) end elos did not want to
(C) think aboyt e 10 conquest of Greece.
(B) " encourage

(D) daydream about

»
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97 to 100)

) t-past-the-
. ies using firs 5
onstituenci€ lo-Indian
The 543 elected MPs will be elected from Siﬂgle_'l-ne?lb:\;; members from the Ang
POSt voting. The President of India nominates an addition o
Community, if pe believes the community is under-repres

No.
. tion : (Q
Read the Passage and choose the most appropriate 0P

nt of the polling area

. ide .
rdinary resl : :
Eligible voters must be Indian citizens, 18 or older, an 0 Jection Commission

) . . issued by the E A
of the constituency and possess a valid voter identification card iss T g
of India. Some people convicted of electoral or other offences ar

: e 2019 general
Earlier, there were specﬁlaﬁons that the Present Government mlg-ht adva::f;n gler Pt
election to counter the anti-incumbency factor, fowever learning from its pa?t er the normal
election made by the Earljer Government, was decided to go into electlonthas p S8 s
schedule which was announced by Election Commission of India (ECI) on 10%* Mare >
which Model Code of Conduct was applied with immediate effect.

ﬁw%ﬁﬁqﬁ%mﬁmnmﬁhﬁ:h&wﬂm%ilﬂﬂ)

Wém—ﬁ—ﬁeﬁq(aﬁﬁmmmmﬁa#ﬁm)mmmﬁm 543 gt @1 fratas
UHT-He frate s & fear s mﬁ,w%mﬁraﬁm%aﬁ@h?&wwwﬁﬁﬁmm
%,?ﬁﬂmﬁfﬁaamrdfaﬁwasmﬁﬁa%mmil

I frere m%wm@nmlomﬁzowaﬁa&qgmm - T TR s P
A T ~m“"fﬁ%mﬁwaﬁm
97

~ Which word o phrase means “dis
(A) First - Past - the

4 - post (B) Blunde, Sholders iy, —
(©) Antl-mcumbency O iy
Ode
qﬁa}zﬁ&%’m@rmmwwm aref *w% Code 4 Co it
ate. o, . wﬁ{:m s T
i ) gy
98 Since when was theSModeI Code of Condyct appligg With
23rd May 201 ith ‘
o [Oth Ma::h 2018 (B) 10th lmmedlate effees o
mﬁwmﬁwmﬁmﬁ“‘l% " ch 2019
(A) 2372018 (;rm ?
(©) 10 9 2018 )

1 A
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——

:jent of India nominate an additional two members f;
€rs from
the A
NElo-yy,
A
ol

Jess than 543 elected MPs

nity fails to send a representative

[ndian Community is und
cf"fep‘reqe
Sented

he Anglo-
-Indian Community is over-represented

@ ¥ 7

ieves that t

ments to vOt€ in India ?

100 What are the mandatory require

(i) Must be an Indian citizen
(iiy Must be 18 or older

(iii) Must have 3 valid criminal record

(iv) Must be an ordinary resident of the polling area of the constituency

(v) Ziuls;:d;i):sses a valid voter identification card issued by the Election Commission
Choose the correct options :
(A) (i), (i), (iii) 4 ;
© Gy, Gii). (), Gv), (v) (([B); ((::)) (.l.).’ (V?' o
oI ¥ 9aeH & & g siftRames od w1 ¥ 7 U 0
Gy e A @ |
(i) 18 31 3EE Ifye ww B
(iii) qu sufas femE &

wé fawed gia e
EE |
r4y (i), (ii), (iii) e ﬁﬁn o
(C) (i) Gii), (i), (iv) (B

23 g = (D) W @, (v),

L] ) > (iv

31 - G, gy |
(v)

lmf\‘



